BID TABULATION FOR:

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE FACILITIES, AND ALTERNATE PAVING AND APPURTENANCES TO SERVE MAPLE HEIGHTS SECTION 5 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 110 CITY OF CONROE E.T.J., MONTGOMERY COUNTY, TEXAS MARCH 19, 2024 LJA ENGINEERING, INC. S. YOUNG MARCH 19, 2024 2457-2550D (9.2)

BIDDER'S NAME	TOTAL AMOUNT BID	BID INCLUDING ALTERNATE ITEM NO. 1 - PAVING ITEMS
1) R CONSTRUCTION CIVIL, LLC	\$1,569,109.60	\$2,056,517.85
2) NORTHTEX CONSTRUCTION, LLC	\$1,582,035.10	\$2,084,108.03
3) CE BARKER LTD.	\$1,789,551.44	\$2,265,086.04
4) BLAZEY CONSTRUCTION SERVICES LLC	\$1,867,498.16	\$2,449,480.86
5) BAY UTILITIES. LLC	\$1,880,691.80	\$2,456,350.67

CALENDAR DAYS 60/75



3/21/24

I, CLAYTON WEISHUHN, P.E., hereby certify these bid tabulations to be true and correct.

BID TABULATION FOR: BID OPENING DATE: BID OPENING LOCATION: TABULATION DY: TABULATION DATE: LJA JOB NO.			A N C N L S S N		AND APPURTENANCES			C,	
				1) R CONSTRUCTIO	N CIVIL, LLC	2) NORTHTEX CONST	TRUCTION, LLC	3) CE BARKE	R LTD.
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
WATER ITEMS									
	WWA C-900, DR 18, CLASS 235, INCLUDES BEDDING AND S, ALL DEPTHS, COMPLETE IN PLACE	LF	2507	\$76.00	\$190,532.00	\$76.44	\$191,635.08	\$61.00	\$152,927.00
	OINT WATER LINE, C-900, DR 18, CLASS 235, INCLUDES TINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE	LF	113	\$102.00	\$11,526.00	\$102.00	\$11,526.00	\$125.00	\$14,125.00
3 STEEL CASING FOR 12" COMPLETE IN PLACE	WATER LINE, INCLUDES SPACERS AND END SEALS,	LF	160	\$140.00	\$22,400.00	\$181.68	\$29,068.80	\$280.00	\$44,800.00
	DISPOSAL OF EXISTING 12" WATERLINE, ALL DEPTHS, REMOVED AND RELOCATED ONSITE)	LF	2224	\$18.00	\$40,032.00	\$7.76	\$17,258.24	\$30.00	\$66,720.00
	VWA C-900, DR 18, CLASS 235, INCLUDES L, ALL FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	LF	1635	\$35.00	\$57,225.00	\$35.42	\$57,911.70	\$30.00	\$49,050.00
	INT WATER LINE, C-900, DR 18, CLASS 235, INCLUDES TINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE	LF	137	\$75.00	\$10,275.00	\$70.26	\$9,625.62	\$82.00	\$11,234.00
7 STEEL CASING FOR 8" \ AND END SEALS, COMP	WATER LINE, INCLUDES SPACERS ILETE IN PLACE	LF	40	\$130.00	\$5,200.00	\$148.92	\$5,956.80	\$280.00	\$11,200.00
	/ATER LINE, INCLUDES FITTINGS, L, ALL DEPTHS, COMPLETE IN PLACE	LF	309	\$14.00	\$4,326.00	\$12.71	\$3,927.39	\$12.00	\$3,708.00
	CATED ONSITE FIRE HYDRANT UNIT, INCLUDES TINGS, 6° GATE VALVE & BOX, AND LEAD PIPE, E IN PLACE	EA	8	\$3,500.00	\$28,000.00	\$3,748.88	\$29,991.04	\$6,600.00	\$52,800.00
10 12" AWWA GATE VALVE	& BOX, COMPLETE IN PLACE	EA	7	\$3,900.00	\$27,300.00	\$4,591.37	\$32,139.59	\$3,500.00	\$24,500.00
11 8" AWWA GATE VALVE	AND BOX, COMPLETE IN PLACE	EA	5	\$2,200.00	\$11,000.00	\$2,657.35	\$13,286.75	\$2,100.00	\$10,500.00
12 2" AWWA SQUARE NUT	GATE VALVE AND BOX, COMPLETE IN PLACE	EA	2	\$850.00	\$1,700.00	\$1,227.18	\$2,454.36	\$800.00	\$1,600.00
13 WET CONNECTION OF I	PROPOSED 12" WATER LINE TO EXISTING WATER GS, ALL ADAPTERS AND CONNECTORS NECESSARY, ALL	EA	3	\$450.00	\$1,350.00	\$1,032.12	\$3,096.36	\$700.00	\$2,100.00
DEPTHS, COMPLETE IN									
	EM FOR WATER LINE, INCLUDES ALL IZES, ALL DEPTHS, COMPLETE IN PLACE	LF	4644	\$0.10	\$464.40	\$0.37	\$1,718.28	\$0.10	\$464.40
	ER LINE WORK (TO BE USED ONLY AS INEER), COMPLETE IN PLACE	LF	500	\$5.00	\$2,500.00	\$22.77	\$11,385.00	\$10.00	\$5,000.00
	DES HAUL, PLACEMENT AND COMPACTION TO FOR DENSITY, WITH MAXIMUM 8" LIFTS,	LS	1	\$1,900.00	\$1,900.00	\$1,547.09	\$1,547.09	\$1,850.00	\$1,850.00
17 ADDITIONAL DUCTILE IF (AS DIRECTED BY ENGI	RON FITTINGS, ALL DEPTHS, ALL SIZES, NEER)	TON	1	\$1.00	\$1.00	\$6,513.53	\$6,513.53	\$500.00	\$500.00
WATER ITEMS SUBTOTAL:					\$415,731.4 0		\$429,041.63		\$453,078.40
	$\overline{\nabla}$			Page 2 of 11					FRN F-1 LJA Engineering,

BID TABULATION FOR: BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.	AND ALTERNATE PAVING AND APPURTENANCES TO SERVE MAPLE HEIGHTS SECTION 5 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 110 CITY OF CONROE E.T.J., MONTGOMERY COUNTY, TEXAS OPENING LOCATION: MARCH 19, 2024 ULA ENGINEERING, INC. SULATION DATE: MARCH 19, 2024											
				1) R CONSTRUCTION	I CIVIL, LLC	2) NORTHTEX CONS	TRUCTION, LLC	3) CE BARKI	ER LTD.			
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST			
SANITARY SEWER ITEMS												
BEDDING AND BACKFILL, (II	M D-2241, SDR 26, 20' AND DEEPER CUT, INCLUDES NCLUDES REPAIR OR REPLACEMENTS AS DIRECTED TING CONCRETE PAVEMENT AND CURB), COMPLETE	LF	1782	\$67.00	\$119,394.00	\$84.72	\$150,971.04	\$90.00	\$160,380.00			
2 8" PVC SEWER PIPE, ASTM BEDDING AND BACKFILL, C	D-3034, SDR 26, 0'-8' CUT, INCLUDES OMPLETE IN PLACE	LF	199	\$29.00	\$5,771.00	\$44.00	\$8,756.00	\$60.00	\$11,940.00			
3 8" PVC SEWER PIPE, ASTM BEDDING AND BACKFILL, C	D-2241, SDR 26, 8'-12' CUT, INCLUDES OMPLETE IN PLACE	LF	1544	\$30.00	\$46,320.00	\$45.85	\$70,792.40	\$65.00	\$100,360.00			
4 8" PVC SEWER PIPE, ASTM BEDDING AND BACKFILL, C	D-2241, SDR 26, 12'-16' CUT, INCLUDES OMPLETE IN PLACE	LF	537	\$32.00	\$17,184.00	\$46.88	\$25,174.56	\$75.00	\$40,275.00			
	ANITARY SEWER MANHOLE, (0'-8' DEPTH), AND INFLOW PROTECTOR, COMPLETE IN PLACE	EA	21	\$5,550.00	\$116,550.00	\$5,876.00	\$123,396.00	\$6,000.00	\$126,000.00			
6 EXTRA VERTICAL DEPTH FO DEPTH), COMPLETE IN PLA	OR 4' DIAMETER SANITARY SEWER MANHOLE (OVER 8' CE	VF	170	\$500.00	\$85,000.00	\$455.55	\$77,443.50	\$650.00	\$110,500.00			
7 STANDARD SANITARY SEW (0'-2' DROP), COMPLETE IN	ER DROP STRUCTURE, ALL SIZES, PLACE	EA	1	\$900.00	\$900.00	\$1,517.37	\$1,517.37	\$2,500.00	\$2,500.00			
8 EXTRA DEPTH ON SANITAR (OVER 2.0' OF DEPTH), COM		VF	3.4	\$95.00	\$323.00	\$98.43	\$334.66	\$873.00	\$2,968.20			
9 8" SANITARY SEWER PLUG	, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$99.00	\$99.00	\$670.24	\$670.24	\$200.00	\$200.00			
	ND CONNECT PROPOSED 10" SANITARY ANTIRAY SEWER, INCLUDES ALL NECESSARY S, COMPLETE IN PLACE	EA	1	\$200.00	\$200.00	\$435.37	\$435.37	\$1,500.00	\$1,500.00			
26, INCLUDES PIPE, CEMEN	IGLE 6" PVS PIPE SERVICE LEAD, ASTM D-2241, SDR- IT STABILIZED SAND BACKFILL, DROP STRUCTURE, MARKER, AND ANY NECESSARY FITTINGS, ALL ACE	EA	33	\$2,850.00	\$94,050.00	\$3,276.84	\$108,135.72	\$3,400.00	\$112,200.00			
	UBLE OR SINGLE SERVICE LEAD, DEPTHS, COMPLETE IN PLACE	LF	756	\$85.00	\$64,260.00	\$22.08	\$16,692.48	\$60.00	\$45,360.00			
	ISING FOR 10" SANITARY SEWER, (EXCLUDES RESTRAINED JOINT PIPE AND BORE PITS, ALL ACE	LF	50	\$600.00	\$30,000.00	\$281.19	\$14,059.50	\$370.00	\$18,500.00			
	SING FOR 8" SANITARY SEWER, (EXCLUDES CARRIER IED JOINT PIPE AND BORE PITS, ALL DEPTHS,	LF	141	\$520.00	\$73,320.00	\$203.72	\$28,724.52	\$340.00	\$47,940.00			
26, INCLUDES PIPE, CEMEN	INGLE 6" PVS PIPE SERVICE LEAD, ASTM D-2241, SDR- IT STABILIZED SAND BACKFILL, DROP STRUCTURE, MARKER, AND ANY NECESSARY FITTINGS, ALL ACE	EA	43	\$1,600.00	\$68,800.00	\$1,664.83	\$71,587.69	\$2,200.00	\$94,600.00			
16 TRENCH SAFETY SYSTEM F LEADS, ALL SIZES, ALL DEF	FOR SANITARY SEWER, INCLUDES ALL LATERAL PTHS, COMPLETE IN PLACE	LF	4062	\$0.10	\$406.20	\$0.63	\$2,559.06	\$0.10	\$406.20			
UNSATISFACTORY SOIL CC	TARY SEWER BEDDING AND BACKFILL FOR INDITIONS, ALL DEPTHS, ALL SIZES, (TO BE BY THE ENGINEER), COMPLETE IN PLACE	LF	1000	\$5.00	\$5,000.00	\$17.09	\$17,090.00	\$5.00	\$5,000.00			

BID TABULATION FOR: BID OPENING DATE: BID OPENING LOCATION:			A M C M	CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE FACILITIES, AND ALTERNATE PAVING AND APPURTENANCES TO SERVE MAPLE HEIGHTS SECTION 5 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 110 CITY OF CONROE E.T.J., MONTGOMERY COUNTY, TEXAS MARCH 19, 2024 LJA ENGINEERING, INC.							
TABULATION BY: TABULATION DATE: LJA JOB NO.			S. YOUNG MARCH 19, 2024 2457-2550D (9.2)								
				1) R CONSTRUCTIO	ON CIVIL, LLC	2) NORTHTEX CONS	TRUCTION, LLC	3) CE BARKI	ER LTD.		
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST			TOTAL COST		
	ANITARY SEWER, ALL SIZES, ALL DEPTHS, (TO BE CTED BY THE ENGINEER), COMPLETE IN PLACE	LF	1000	\$10.00	\$10,000.00	\$21.88	\$21,880.00	\$10.00	\$10,000.00		
	UDES HAUL, PLACE, AND COMPACTION TO CTOR DENSITY, WITH MAXIMUM 8" LIFTS,	LS	1	\$1,500.00	\$1,500.00	\$3,713.01	\$3,713.01	\$1,750.00	\$1,750.00		
SANITARY SEWER ITEMS S	UBTOTAL:				\$739,077.20		\$743,933.12		\$892,379.40		
DRAINAGE FACILITIES ITEI	NS										
	ASTM C-76, CLASS III, ALL CUTS, INCLUDES FILL, ALL DEPTHS, COMPLETE IN PLACE	LF	452	\$82.00	\$37,064.00	\$80.30	\$36,295.60	\$98.00	\$44,296.00		
	ASTM C-76, CLASS III, ALL CUTS, INCLUDES FILL, ALL DEPTHS, COMPLETE IN PLACE	LF	6	\$132.00	\$792.00	\$99.94	\$599.64	\$120.00	\$720.00		
	ASTM C-76, CLASS III, ALL CUTS, INCLUDES FILL, ALL DEPTHS, COMPLETE IN PLACE	LF	570	\$145.00	\$82,650.00	\$139.98	\$79,788.60	\$165.00	\$94,050.00		
	ASTM C-76, CLASS III, ALL CUTS, INCLUDES FILL, ALL DEPTHS, COMPLETE IN PLACE	LF	614	\$190.00	\$116,660.00	\$187.66	\$115,223.24	\$215.00	\$132,010.00		
	ASTM C-76, CLASS III, ALL CUTS, INCLUDES FILL, ALL DEPTHS, COMPLETE IN PLACE	LF	108	\$230.00	\$24,840.00	\$220.66	\$23,831.28	\$250.00	\$27,000.00		
	RETE TYPE "C" MANHOLE FOR 42" STORM SEWER AND ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	8	\$3,350.00	\$26,800.00	\$3,109.28	\$24,874.24	\$3,500.00	\$28,000.00		
	RETE TYPE "C" MANHOLE FOR 48" STORM SEWER AND ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$5,000.00	\$5,000.00	\$3,895.71	\$3,895.71	\$5,100.00	\$5,100.00		
WITH TYPE "C" STOR	EINFORCED CONCRETE TYPE "E" INLET TOP AND REPLACE M MANHOLE TOP, FOR 48" STORM SEWER EPTHS, COMPLETE IN PLACE	EA	2	\$800.00	\$1,600.00	\$2,827.00	\$5,654.00	\$5,400.00	\$10,800.00		
	ED CONCRETE TYPE "C" INLET, (5' OPENING), DTECTION BARRIER FOR STAGE 1 INLET, ALL DEPTHS,	EA	9	\$2,100.00	\$18,900.00	\$1,783.65	\$16,052.85	\$3,400.00	\$30,600.00		
10 STAGE II – REINFORC ALL DEPTHS, COMPL	CED CONCRETE TYPE "C" INLET (5' OPENING), ETE IN PLACE	EA	9	\$2,900.00	\$26,100.00	\$2,727.25	\$24,545.25	\$1,500.00	\$13,500.00		
11 REINFORCED CONCR ALL DEPTHS, COMPL	RETE TYPE "E" INLET, ALL SIDES OPEN, ETE IN PLACE	EA	2	\$4,300.00	\$8,600.00	\$2,843.06	\$5,686.12	\$4,300.00	\$8,600.00		
12 TRENCH SAFETY SYS ALL DEPTHS, COMPL	STEM FOR STORM SEWER, ALL SIZES, ETE IN PLACE	LF	1750	\$0.10	\$175.00	\$0.61	\$1,067.50	\$0.10	\$175.00		
ONSITE, INCLUDES S	TIY SPOILS, INCLUDES HAULING EXCAVATED MATERIAL TRIPPINGS, PLACEMENT AND COMPACTION TO 95% R DENSITY, WITH MAXIMUM 8" LIFTS, COMPLETE IN PLACE	LS	1	\$2,100.00	\$2,100.00	\$2,824.67	\$2,824.67	\$2,468.63	\$2,468.63		
	OR STORM SEWER BEDDING FOR UNSATISFACTORY IS DIRECTED BY ENGINEER), COMPLETE IN PLACE	LF	500	\$15.00	\$7,500.00	\$15.00	\$7,500.00	\$15.00	\$7,500.00		
	TORM SEWER, (AS DIRECTED BY ENGINEER), 'HS, COMPLETE IN PLACE	LF	500	\$22.00	\$11,000.00	\$22.00	\$11,000.00	\$22.00	\$11,000.00		
	RICK PLUG, CONNECT EXISTING STORM SEWER TO SEWER, INCLUDES ALL FITTINGS, COMPLETE IN PLACE	EA	1	\$600.00	\$600.00	\$275.26	\$275.26	\$119.01	\$119.01		
DRAINAGE FACILITIES ITEN	IS SUBTOTAL:				\$370,381.00		\$359,113.96		\$415,938.64		

BID TABULATION FOR: BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.			A N C N L S S N		AND APPURTENANCES			C+	
				1) R CONSTRUCTIO	ON CIVIL, LLC	2) NORTHTEX CONST	RUCTION, LLC	3) CE BARKER	LTD.
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
WS&D MISCELLANEOUS ITEMS 1 CONSTRUCT AND MAINTAIN A CONSTRUCTION EXIT, COMPL		EA	2	\$1,500.00	\$3,000.00	\$3,954.17	\$7,908.34	\$2,200.00	\$4,400.00
2 CONSTRUCT, MAINTAIN, AND TRUCK WASHOUT AREA, COM		EA	2	\$500.00	\$1,000.00	\$1,282.84	\$2,565.68	\$300.00	\$600.00
	BARRIER FENCING), (TO BE USED INGINEER), COMPLETE IN PLACE	LF	13510	\$2.00	\$27,020.00	\$1.27	\$17,157.70	\$0.50	\$6,755.00
	FINE GRADING, INCLUDES WATERING, TO ACHIEVE COVERAGE, (AS DIRECTED BY ENGINEER),	AC	2	\$1,500.00	\$3,000.00	\$2,837.18	\$5,674.36	\$1,850.00	\$3,700.00
	IDES FERTILIZING AND WATERING, TO ACHIEVE 90% ERAGE (AS DIRECTED BY ENGINEER), COMPLETE IN	AC	8	\$650.00	\$5,200.00	\$1,042.23	\$8,337.84	\$750.00	\$6,000.00
	INCLUDES PUMPING REQUIRED TO JECT, (AS DIRECTED BY ENGINEER), COMPLETE IN	HR	20	\$55.00	\$1,100.00	\$82.19	\$1,643.80	\$100.00	\$2,000.00
7 STORMWATER POLLUTION PL COMPLETE IN PLACE	REVENTION PLAN COMPLAINCE,	LS	1	\$1,100.00	\$1,100.00	\$2,605.57	\$2,605.57	\$1,200.00	\$1,200.00
8 INLET PROTECTION BARRIER IN PLACE	FOR STAGE II INLETES (GRAVEL BAGS), COMPLETE	EA	20	\$25.00	\$500.00	\$28.95	\$579.00	\$100.00	\$2,000.00
9 ALL REQUIRED MONTGOMER	Y COUNTY PERMITS, COMPLETE IN PLACE	LS	1	\$2,000.00	\$2,000.00	\$3,474.10	\$3,474.10	\$1,500.00	\$1,500.00
WS&D MISCELLANEOUS ITEMS SUE	TOTAL:				\$43,920.00		\$49,946.39		\$28,155.00
ALTERNATE ITEM NO. 1 - PAVING II	TEMS								
1 ROW EXCAVATION, TO BE PL EXCAVATION, STOCKPILE, HA STRIPPINGS AS FINAL LIFT, C		CY	2352	\$5.25	\$12,348.00	\$4.09	\$9,619.68	\$3.90	\$9,172.80
2 6" STABILIZED SUBGRADE, CO	DMPLETE IN PLACE	SY	7057	\$3.75	\$26,463.75	\$2.65	\$18,701.05	\$3.90	\$27,522.30
3 7% HYDRATED LIME FOR 6" S	UBGRADE, COMPLETE IN PLACE	TON	164	\$325.00	\$53,300.00	\$349.55	\$57,326.20	\$350.00	\$57,400.00
4 6-INCH REINFORCED CONCRI	ETE PAVING, COMPLETE IN PLACE	SY	6264	\$50.00	\$313,200.00	\$52.31	\$327,669.84	\$47.00	\$294,408.00
5 6-INCH & 4X12-INCH REINFOR TRANSITION TO 4-INCH CURB	CED CONCRETE CURB, INCLUDES , COMPLETE IN PLACE	LF	3809	\$3.50	\$13,331.50	\$4.90	\$18,664.10	\$3.50	\$13,331.50
6 TIE INTO EXISTING CONCRET	E, COMPLETE IN PLACE	LF	135	\$40.00	\$5,400.00	\$15.59	\$2,104.65	\$40.00	\$5,400.00
7 REMOVE EXISTING TYPE III B	ARRICADE, COMPLETE IN PLACE	EA	3	\$1.00	\$3.00	\$138.96	\$416.88	\$300.00	\$900.00
8 GRADING FOR RESERVES, IN AND COMPATION TO FINAL G	CLUDES EXCAVATION, HAUL, FILL, RADE, COMPLETE IN PLACE	EA	5	\$365.00	\$1,825.00	\$1,237.36	\$6,186.80	\$285.00	\$1,425.00
9 GRADING FOR LOTS, INCLUD AND COMPACTION TO FINAL (ES EXCAVATION, HAUL, FILL, GRADE, COMPLETE IN PLACE	EA	142	\$180.00	\$25,560.00	\$164.98	\$23,427.16	\$285.00	\$40,470.00
				Pore 5 of 11					FRN F-1

BID TABULATION FOR: CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE FACILITIES, AND ALTERNATE PAVING AND APPURTENANCES TO SERVE MAPLE HEIGHTS SECTION 5 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 110 CITY OF CONROE E.T.J., MONTGOMERY COUNTY, TEXAS BID OPENING DATE: MARCH 19, 2024 BID OPENING NOT: S. YOUNG TABULATION BY: S. YOUNG TABULATION DATE: MARCH 19, 2024 LJA JOB NO. 2457-2550D (9.2)											
			1) R CONSTRUCT	ION CIVIL, LLC	CIVIL, LLC 2) NORTHTEX CONS		3) CE BARK	ER LTD.			
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST			
10 ADA RAMPS, INCLUDES TRUNCATED DOME PAVERS WITH CONTRASTING COLOR PER DETAIL, COMPLETE IN PLACE	EA	2	\$2,350.00	\$4,700.00	\$1,613.34	\$3,226.68	\$1,400.00	\$2,800.00			
11 REMOVE AND REPLACED 4' WIDE REINFORCED CONCRETE SIDEWALK, COMPLETE IN PLACE	SY	349	\$73.00	\$25,477.00	\$86.24	\$30,097.76	\$45.00	\$15,705.00			
12 PERMANENT TRAFFIC CONTROL DEVICES, INCLUDES ALL TRAFFIC BUT PAVEMENT STRIPING, MARKERS, REFLECTIVE PAINT ON MEDIAN NOSE STREET SIGNS, TRAFFIC SIGNS, ETC., COMPLETE IN PLACE		1	\$5,800.00	\$5,800.00	\$4,632.13	\$4,632.13	\$7,000.00	\$7,000.00			
ALTERNATE ITEM NO. 1 - PAVING ITEMS SUBTOTAL:				\$487,408.25		\$502,072.93		\$475,534.60			
BIDDING SUMMARY											
SUBTOTAL WATER ITEMS				\$415,731.40		\$429,041.63		\$453,078.40			
SUBTOTAL SANITARY SEWER ITEMS				\$739,077.20		\$743,933.12		\$892,379.40			
SUBTOTAL DRAINAGE FACILITIES ITEMS				\$370,381.00		\$359,113.96		\$415,938.64			
SUBTOTAL WS&D MISCELLANEOUS ITEMS				\$43,920.00		\$49,946.39		\$28,155.00			
TOTAL AMOUNT BASE BID				\$1,56 9,10 9.60		\$1,582,035.10		\$1,789,551.44			
ALTERNATE ITEM NO. 1 - PAVING ITEMS											
TOTAL AMOUNT BASE BID				\$1,569,109.60		\$1,582,035.10		\$1,789,551.44			
SUBTOTAL ALTERNATE ITEM NO. 1 - PAVING ITEMS				\$487,408.25		\$502,072.93		\$475,534.60			
TOTAL AMOUNT INCLUDING ALTERNATE ITEM NO. 1 - PAVING ITEMS				\$2,056,517.85		\$2,084,108.03		\$2,265,086.04			
		Ó									

BID TABULATION FOR: BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.	CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE FACILITIES, AND ALTERNATE PAVING AND APPURTENANCES TO SERVE MAPLE HEIGHTS SECTION 5 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 110 CITY OF CONROE E.T.J., MONTGOMERY COUNTY, TEXAS MARCH 19, 2024 LJA ENGINEERING, INC. S. YOUNG MARCH 19, 2024 2457-2550D (9.2) 4) BLAZEY CONSTRUCTION SERVICES LLC 5) BAY UTILITIES. LLC										
						,					
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST				
	VWA C-900, DR 18, CLASS 235, INCLUDES BEDDING AND ALL DEPTHS, COMPLETE IN PLACE	LF	2507	\$64.00	\$160,448.00	\$76.00	\$190,532.00				
	INT WATER LINE, C-900, DR 18, CLASS 235, INCLUDES NGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE	LF	113	\$142.00	\$16,046.00	\$100.00	\$11,300.00				
3 STEEL CASING FOR 12" V COMPLETE IN PLACE	VATER LINE, INCLUDES SPACERS AND END SEALS,	LF	160	\$149.00	\$23,840.00	\$260.00	\$41,600.00				
	ISPOSAL OF EXISTING 12" WATERLINE, ALL DEPTHS, REMOVED AND RELOCATED ONSITE)	LF	2224	\$17.00	\$37,808.00	\$20.00	\$44,480.00				
	WA C-900, DR 18, CLASS 235, INCLUDES ALL FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	LF	1635	\$34.00	\$55,590.00	\$39.00	\$63,765.00				
	NT WATER LINE, C-900, DR 18, CLASS 235, INCLUDES NGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE	LF	137	\$86.00	\$11,782.00	\$72.00	\$9,864.00				
7 STEEL CASING FOR 8" W AND END SEALS, COMPL	ATER LINE, INCLUDES SPACERS ETE IN PLACE	LF	40	\$131.00	\$5,240.00	\$244.00	\$9,760.00				
	ITER LINE, INCLUDES FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	LF	309	\$18.00	\$5,562.00	\$19.00	\$5,871.00				
	CATED ONSITE FIRE HYDRANT UNIT, INCLUDES INGS, 6° GATE VALVE & BOX, AND LEAD PIPE, IN PLACE	EA	8	\$3,700.00	\$29,600.00	\$3,700.00	\$29,600.00				
10 12" AWWA GATE VALVE 8	& BOX, COMPLETE IN PLACE	EA	7	\$3,600.00	\$25,200.00	\$3,700.00	\$25,900.00				
11 8" AWWA GATE VALVE A	ND BOX, COMPLETE IN PLACE	EA	5	\$1,900.00	\$9,500.00	\$2,100.00	\$10,500.00				
12 2" AWWA SQUARE NUT G	GATE VALVE AND BOX, COMPLETE IN PLACE	EA	2	\$720.00	\$1,440.00	\$760.00	\$1,520.00				
	ROPOSED 12" WATER LINE TO EXISTING WATER S, ALL ADAPTERS AND CONNECTORS NECESSARY, ALL PLACE	EA	3	\$1,100.00	\$3,300.00	\$2,800.00	\$8,400.00				
	M FOR WATER LINE, INCLUDES ALL IES, ALL DEPTHS, COMPLETE IN PLACE	LF	4644	\$0.11	\$510.84	\$0.10	\$464.40				
	R LINE WORK (TO BE USED ONLY AS IEER), COMPLETE IN PLACE	LF	500	\$22.00	\$11,000.00	\$30.00	\$15,000.00				
	ES HAUL, PLACEMENT AND COMPACTION TO OR DENSITY, WITH MAXIMUM 8" LIFTS,	LS	1	\$3,800.00	\$3,800.00	\$8,000.00	\$8,000.00				
17 ADDITIONAL DUCTILE IRC (AS DIRECTED BY ENGIN	ON FITTINGS, ALL DEPTHS, ALL SIZES, EER)	TON	1	\$1,700.00	\$1,700.00	\$1,000.00	\$1,000.00				
WATER ITEMS SUBTOTAL:				Page 7 of	\$402,366.84		\$477,556.40				

BID TABULATION FOR: BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.	AND ALTERNATE PAVING AND APPURTENANCES TO SERVE MAPLE HEIGHTS SECTION 5 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 110 CITY OF CONROE E.T.J., MONTGOMERY COUNTY, TEXAS E: MARCH 19, 2024 ATION: LJA ENGINEERING, INC. S. YOUNG										
			4)	BLAZEY CONSTRUCTI	ON SERVICES LLC	5) BAY UTILIT	TIES. LLC				
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST				
SANITARY SEWER ITEMS											
1 10" PVC SEWER PIPE, A BEDDING AND BACKFIL	ASTM D-2241, SDR 26, 20' AND DEEPER CUT, INCLUDES .L. (INCLUDES REPAIR OR REPLACEMENTS AS DIRECTED EXISTING CONCRETE PAVEMENT AND CURB), COMPLETE	LF	1782	\$180.00	\$320,760.00	\$143.00	\$254,826.00				
	STM D-3034, SDR 26, 0'-8' CUT, INCLUDES .L, COMPLETE IN PLACE	LF	199	\$38.00	\$7,562.00	\$55.00	\$10,945.00				
	STM D-2241, SDR 26, 8'-12' CUT, INCLUDES .L, COMPLETE IN PLACE	LF	1544	\$40.00	\$61,760.00	\$56.00	\$86,464.00				
	STM D-2241, SDR 26, 12'-16' CUT, INCLUDES L, COMPLETE IN PLACE	LF	537	\$44.00	\$23,628.00	\$59.00	\$31,683.00				
	R SANITARY SEWER MANHOLE, (0'-8' DEPTH), ITS AND INFLOW PROTECTOR, COMPLETE IN PLACE	EA	21	\$5,300.00	\$111,300.00	\$5,800.00	\$121,800.00				
6 EXTRA VERTICAL DEP DEPTH), COMPLETE IN	TH FOR 4' DIAMETER SANITARY SEWER MANHOLE (OVER 8' PLACE	VF	170	\$520.00	\$88,400.00	\$500.00	\$85,000.00				
7 STANDARD SANITARY (0'-2' DROP), COMPLET	SEWER DROP STRUCTURE, ALL SIZES, E IN PLACE	EA	1	\$6,200.00	\$6,200.00	\$1,100.00	\$1,100.00				
8 EXTRA DEPTH ON SAN (OVER 2.0' OF DEPTH),	ITARY SEWER DROP STRUCTURE, COMPLETE IN PLACE	VF	3.4	\$300.00	\$1,020.00	\$41.00	\$139.40				
9 8" SANITARY SEWER P	LUG, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$140.00	\$140.00	\$115.00	\$115.00				
SEWER TO EXISTING 1	JG, AND CONNECT PROPOSED 10° SANITARY 0° SANTIRAY SEWER, INCLUDES ALL NECESSARY PTHS, COMPLETE IN PLACE	EA	1	\$4,000.00	\$4,000.00	\$2,100.00	\$2,100.00				
26, INCLUDES PIPE, CE	R SINGLE 6" PVS PIPE SERVICE LEAD, ASTM D-2241, SDR- MENT STABILIZED SAND BACKFILL, DROP STRUCTURE, LUG, MARKER, AND ANY NECESSARY FITTINGS, ALL I PLACE	EA	33	\$3,600.00	\$118,800.00	\$3,500.00	\$115,500.00				
	E DOUBLE OR SINGLE SERVICE LEAD, ALL DEPTHS, COMPLETE IN PLACE	LF	756	\$48.00	\$36,288.00	\$40.00	\$30,240.00				
	L CASING FOR 10" SANITARY SEWER, (EXCLUDES DES RESTRAINED JOINT PIPE AND BORE PITS, ALL I PLACE	LF	50	\$400.00	\$20,000.00	\$494.00	\$24,700.00				
	L CASING FOR 8" SANITARY SEWER, (EXCLUDES CARRIER RAINED JOINT PIPE AND BORE PITS, ALL DEPTHS,	LF	141	\$400.00	\$56,400.00	\$393.00	\$55,413.00				
26, INCLUDES PIPE, CE	OR SINGLE 6" PVS PIPE SERVICE LEAD, ASTM D-2241, SDR- MENT STABILIZED SAND BACKFILL, DROP STRUCTURE, LUG, MARKER, AND ANY NECESSARY FITTINGS, ALL I PLACE	EA	43	\$2,100.00	\$90,300.00	\$1,500.00	\$64,500.00				
	EM FOR SANITARY SEWER, INCLUDES ALL LATERAL DEPTHS, COMPLETE IN PLACE	LF	4062	\$0.11	\$446.82	\$2.00	\$8,124.00				
UNSATISFACTORY SOI	SANITARY SEWER BEDDING AND BACKFILL FOR L CONDITIONS, ALL DEPTHS, ALL SIZES, (TO BE TED BY THE ENGINEER), COMPLETE IN PLACE	LF	1000	\$13.00	\$13,000.00	\$15.00	\$15,000.00				

BID TABULATION FOR: BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.	AND ALTERNATE PAVING AND APPURTENANCES TO SERVE MAPLE HEIGHTS SECTION 5 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 110 CITY OF CONROE E.T.J., MONTGOMERY COUNTY, TEXAS OPENING LOCATION: ULATION BY: ULATION DATE: MARCH 19, 2024 S. YOUNG MARCH 19, 2024										
			4)	BLAZEY CONSTRUC	TION SERVICES LLC	5) BAY UTIL	ITIES. LLC				
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST				
	ARY SEWER, ALL SIZES, ALL DEPTHS, (TO BE) BY THE ENGINEER), COMPLETE IN PLACE	LF	1000	\$22.00	\$22,000.00	\$30.00	\$30,000.00				
	S HAUL, PLACE, AND COMPACTION TO R DENSITY, WITH MAXIMUM 8" LIFTS,	LS	1	\$8,900.00	\$8,900.00	\$15,000.00	\$15,000.00				
SANITARY SEWER ITEMS SUBT	OTAL:				\$990,904.82		\$952,649.40				
DRAINAGE FACILITIES ITEMS											
	I C-76, CLASS III, ALL CUTS, INCLUDES ALL DEPTHS, COMPLETE IN PLACE	LF	452	\$86.00	\$38,872.00	\$90.00	\$40,680.00				
	I C-76, CLASS III, ALL CUTS, INCLUDES ALL DEPTHS, COMPLETE IN PLACE	LF	6	\$880.00	\$5,280.00	\$105.00	\$630.00				
	I C-76, CLASS III, ALL CUTS, INCLUDES ALL DEPTHS, COMPLETE IN PLACE	LF	570	\$154.00	\$87,780.00	\$145.00	\$82,650.00				
	I C-76, CLASS III, ALL CUTS, INCLUDES ALL DEPTHS, COMPLETE IN PLACE	LF	614	\$215.00	\$132,010.00	\$191.00	\$117,274.00				
	I C-76, CLASS III, ALL CUTS, INCLUDES ALL DEPTHS, COMPLETE IN PLACE	LF	108	\$254.00	\$27,432.00	\$226.00	\$24,408.00				
	TYPE "C" MANHOLE FOR 42" STORM SEWER AND USTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	8	\$3,600.00	\$28,800.00	\$3,200.00	\$25,600.00				
	TYPE "C" MANHOLE FOR 48" STORM SEWER AND ISTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$5,200.00	\$5,200.00	\$3,900.00	\$3,900.00				
	ORCED CONCRETE TYPE "E" INLET TOP AND REPLACE ANHOLE TOP, FOR 48" STORM SEWER HS, COMPLETE IN PLACE	EA	2	\$1,800.00	\$3,600.00	\$2,500.00	\$5,000.00				
	CONCRETE TYPE "C" INLET, (5' OPENING), CTION BARRIER FOR STAGE 1 INLET, ALL DEPTHS,	EA	9	\$2,300.00	\$20,700.00	\$4,100.00	\$36,900.00				
10 STAGE II – REINFORCED (ALL DEPTHS, COMPLETE	CONCRETE TYPE "C" INLET (5' OPENING), IN PLACE	EA	9	\$2,500.00	\$22,500.00	\$1,500.00	\$13,500.00				
11 REINFORCED CONCRETE ALL DEPTHS, COMPLETE	TYPE "E" INLET, ALL SIDES OPEN, IN PLACE	EA	2	\$4,700.00	\$9,400.00	\$4,700.00	\$9,400.00				
12 TRENCH SAFETY SYSTEM ALL DEPTHS, COMPLETE	I FOR STORM SEWER, ALL SIZES, IN PLACE	LF	1750	\$0.11	\$192.50	\$0.10	\$175.00				
ONSITE, INCLUDES STRIP	POILS, INCLUDES HAULING EXCAVATED MATERIAL PINGS, PLACEMENT AND COMPACTION TO 95% NSITY, WITH MAXIMUM 8" LIFTS, COMPLETE IN PLACE	LS	1	\$11,000.00	\$11,000.00	\$12,000.00	\$12,000.00				
	TORM SEWER BEDDING FOR UNSATISFACTORY RECTED BY ENGINEER), COMPLETE IN PLACE	LF	500	\$20.00	\$10,000.00	\$15.00	\$7,500.00				
15 DEWATERING FOR STORI ALL SIZES, ALL DEPTHS, (M SEWER, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	LF	500	\$22.00	\$11,000.00	\$30.00	\$15,000.00				
	EPLUG, CONNECT EXISTING STORM SEWER TO ER, INCLUDES ALL FITTINGS, COMPLETE IN PLACE	EA	1	\$440.00	\$440.00	\$2,000.00	\$2,000.00				
DRAINAGE FACILITIES ITEMS SU	JBTOTAL:				\$414,206.50		\$396,617.00				

 \blacklozenge

BID TABULATION FOR: BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.			AND MON CITY MAR(LJA E S. YC MAR(ALTERNATE PAVING A TGOMERY COUNTY M OF CONROE E.T.J., M CH 19, 2024 ENGINEERING, INC.			S SECTION 5
			4) BI	AZEY CONSTRUCTIO	N SERVICES LLC	5) BAY UTILITIES	LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST T	TOTAL COST
WS&D MISCELLANEOUS ITEMS							
1 CONSTRUCT AND MAINTAIN A CONSTRUCTION EXIT, COMP		EA	2	\$2,300.00	\$4,600.00	\$2,700.00	\$5,400.00
2 CONSTRUCT, MAINTAIN, AND TRUCK WASHOUT AREA, CO		EA	2	\$1,200.00	\$2,400.00	\$2,000.00	\$4,000.00
	BARRIER FENCING), (TO BE USED ENGINEER), COMPLETE IN PLACE	LF	13510	\$2.00	\$27,020.00	\$1.90	\$25,669.00
	FINE GRADING, INCLUDES WATERING, TO ACHIEVE COVERAGE, (AS DIRECTED BY ENGINEER),	AC	2	\$2,700.00	\$5,400.00	\$2,400.00	\$4,800.00
	JDES FERTILIZING AND WATERING, TO ACHIEVE 90% /ERAGE (AS DIRECTED BY ENGINEER), COMPLETE IN	AC	8	\$1,000.00	\$8,000.00	\$1,200.00	\$9,600.00
	INCLUDES PUMPING REQUIRED TO DJECT, (AS DIRECTED BY ENGINEER), COMPLETE IN	HR	20	\$100.00	\$2,000.00	\$60.00	\$1,200.00
7 STORMWATER POLLUTION P COMPLETE IN PLACE	REVENTION PLAN COMPLAINCE,	LS	1	\$2,700.00	\$2,700.00	\$2,000.00	\$2,000.00
8 INLET PROTECTION BARRIEF IN PLACE	R FOR STAGE II INLETES (GRAVEL BAGS), COMPLETE	EA	20	\$120.00	\$2,400.00	\$50.00	\$1,000.00
9 ALL REQUIRED MONTGOMER	RY COUNTY PERMITS, COMPLETE IN PLACE	LS	1	\$5,500.00	\$5,500.00	\$200.00	\$200.00
WS&D MISCELLANEOUS ITEMS SUI	BTOTAL:				\$60,020.00		\$53,869.00
ALTERNATE ITEM NO. 1 - PAVING I	TEMS						
1 ROW EXCAVATION, TO BE PL EXCAVATION, STOCKPILE, H. STRIPPINGS AS FINAL LIFT, C		CY	2352	\$22.00	\$51,744.00	\$8.50	\$19,992.00
2 6" STABILIZED SUBGRADE, C	OMPLETE IN PLACE	SY	7057	\$4.50	\$31,756.50	\$4.61	\$32,532.77
3 7% HYDRATED LIME FOR 6" S	SUBGRADE, COMPLETE IN PLACE	TON	164	\$400.00	\$65,600.00	\$400.00	\$65,600.00
4 6-INCH REINFORCED CONCR	ETE PAVING. COMPLETE IN PLACE	SY	6264	\$52.50	\$328,860.00	\$54.00	\$338,256,00
	RCED CONCRETE CURB, INCLUDES	LF	3809	\$4.80	\$18,283.20	\$3.90	\$14,855.10
6 TIE INTO EXISTING CONCRET		LF	135	\$27.00	\$3,645.00	\$26.00	\$3,510.00
	ARRICADE, COMPLETE IN PLACE	EA	3	\$320.00	\$960.00	\$53.00	\$159.00
8 GRADING FOR RESERVES, IN AND COMPATION TO FINAL G	ICLUDES EXCAVATION, HAUL, FILL, SRADE, COMPLETE IN PLACE	EA	5	\$540.00	\$2,700.00	\$980.00	\$4,900.00
9 GRADING FOR LOTS, INCLUD AND COMPACTION TO FINAL	IES EXCAVATION, HAUL, FILL GRADE, COMPLETE IN PLACE	EA	142	\$187.00	\$26,554.00	\$210.00	\$29,820.00

BID TABULATION FOR:	AND ALTERNATE PAVING AND APPURTENANCES TO SERVE MAPLE HEIGHTS SECTION 5 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 110 CITY OF CONROE E.T.J., MONTGOMERY COUNTY, TEXAS								
BID OPENING LOCATION:			LJ	A ENGINEERING, INC.					
TABULATION BY: TABULATION DATE:				YOUNG ARCH 19, 2024					
LJA JOB NO.				57-2550D (9.2)					
			4)) BLAZEY CONSTRUCT	5) BAY UTILI	TIES. LLC			
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST		
	TRUNCATED DOME PAVERS WITH PER DETAIL, COMPLETE IN PLACE	EA	2	\$2,000.00	\$4,000.00	\$1,600.00	\$3,200.00		
11 REMOVE AND REPLACE CONCRETE SIDEWALK,		SY	349	\$120.00	\$41,880.00	\$166.00	\$57,934.00		
PAVEMENT STRIPING, M	ONTROL DEVICES, INCLUDES ALL TRAFFIC BUTTONS, IARKERS, REFLECTIVE PAINT ON MEDIAN NOSES, C SIGNS, ETC., COMPLETE IN PLACE	LS	1	\$6,000.00	\$6,000.00	\$4,900.00	\$4,900.00		
ALTERNATE ITEM NO. 1 - PAVI	ING ITEMS SUBTOTAL:				\$581,982.70		\$575,658.87		
BIDDING SUMMARY									
SUBTOTAL WATER ITEMS					\$402,366.84		\$477,556.40		
SUBTOTAL SANITARY SEWER	ITEMS				\$990,904.82		\$952,649.40		
SUBTOTAL DRAINAGE FACILIT	TES ITEMS				\$414,206.50		\$396,617.00		
SUBTOTAL WS&D MISCELLAN	EOUS ITEMS				\$60,020.00		\$53,869.00		
TOTAL AMOUNT BASE BID					\$1,867,498.16		\$1,880,691.80		
ALTERNATE ITEM NO. 1 - PAVI	ING ITEMS								
TOTAL AMOUNT BASE BID					\$1,867,498.16		\$1,880,691.80		
SUBTOTAL ALTERNATE ITEM	NO. 1 - PAVING ITEMS				\$581,982.70		\$575,658.87		
TOTAL AMOUNT INCLUDING A	LTERNATE ITEM NO. 1 - PAVING ITEMS				\$2,449,480.86		\$2,456,350.67		
					-				
				Ť					